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,2002 * 504 * 1,900 114,000
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NJIEEd=s 7,000 0 7,000
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401 AIEHI L 20 40,000 40,000 0
01 A& HI 40,000 40,000 0
O st&Ez 2= 40,000,000& = 14 40,000
405 XtatE SHI 5,000 5,000 0
01 AR ESFH S 5,000 5,000 0
O s 8372 5,000,000& = 14 5,000
ZAAIE A XA 11,254,300 7,187,800 4,066,500
= 5,354,000
= 1,147,500
Al 4,752,800
SETZAAE AE 11,221,500 7,160,000 4,061,500
= 5,354,000
< 1,147,500
Al 4,720,000
401 Al HIZ 201 Y| 11,221,500 7,160,000 4,061,500
= 5,354,000
< 1,147,500
Al 4,720,000
01 A& HI 9,649,000 7,160,000 2,489,000
O stEAE M= 1,970,000,000& * 14 1,970,000
= 1,379,000
< 295,000
Al 296,000
0O sog &= 3,750,000,000& * 14 3,750,000
= 2,625,000
< 563,000
Al 562,000
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SH: AS =X D
o 042X S
Sl EFM Y X8

SA - ZE-B(EN) - NRAY - B S il &t o il
01 At 22l 7,240 7,240
0O g3t 3,600
O g+ M 100,000& * 504 500
O dgggEitus I M
600,000& = 13l 600
O LHESSISSH AL &I M=
100,000& * 25%H 2,500
0O 2d=+¢ 1,100
O 4358 gus ZAZ2 500,0008 * 13 500
O dEgagEius 2dAE
300,000& = 23l 600
O =&l 1,540
O ol&=x gexa
7,000& * 2% * 110 1,540
0 dxt= 1,000
O &Y dAEA XN3E X gt
500,000& = 23l 1,000
202 04l 3,000 3,000
01 = LH Yl 3,000 3,000
O HEEX g2F8 20,0008 = 2F = 75 3,000
301 LEtE A= 3,840 3,840
09 HALAHIEA S 3,840 3,840
O HEXNET dHE8E WU 4% HdHEY
60,000 » 69H 360
O @2 SABSE JIEA HAT MH2
60,000& = 129H 720
O Hdcddald s 4T A2
60,000& » 13H 780
O JtEe & &AL 8K A 24
60,0002 = 69H 360
O QPEBSE A BAT AHIB4
60,000& = 13H 780
O Hde? &M 52 e dA 34T A
HI &2 & 60,000 » 69H 360
O 83 E23 2AL AHEA
60,000 » 8H 480
307 gl2+tol & 18,000 18,000
11T ALS S RAEE = 18,000 18,000
O H&EXNER 2 23 15,000,0008 « 1A 15,000
[ 2HBS 2 AAEA 18
3,000,000& * 14 3,000
AHBSF2H JEGHA 11,000 11,000
307 glz2+ol & 11,000 11,000
11T MISXASEX 11,000 11,000
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5 - 4
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11,000,000& = 14 11,000
HAEAHA STAY 36,172 49,701 N 13,529
= 5,450
Jl 9,193
== 6,430
Al 15,099
SAEZAo A S 2 A& 8,670 4,672 3,998
Dl 6,068
= 780
Al 1,822
307 2Iz2t0| & 8,670 4,672 3,998
J| 6,068
o= 780
Al 1,822
01 s =l 8,670 4,672 3,998
O 8Z=H0ol A A SHI X
8,118,000& = 1A 8,118
J| 5,682
& 730
Al 1,706
O 8=Z=0ol A 2tEH X & 552,000 = 14l 552
J| 386
= 50
Al 116
HEZHUABANEASANNELNS 480 1,440 A 960
J| 240
& 43
Al 197
301 et A= 480 1,440 A 960
J| 240
& 43
Al 197
09 HAIAHI BEAZ 480 1,440 A 960
[0 HEZSUBAE SAIL S
480,000 * 1 480
J| 240
= 43
Al 197
OlsSHAEHE X G 2 7,240 7,240 0
= 3,620
& 1,086
Al 2,534
201 2Et24Ay| 7,240 7,240 0
= 3,620
& 1,086
Al 2,534
01 AP 2t 2] d| 7,240 7,240 0
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-
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4,287 A 165
Jl 2,885

=
wW
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01 2

ST ZH| 4,122 4,287 A 165
IHEEZSTI A S HIXE

4,122,000 = 14| 4,122
J| 2,885
< 372
Al 865

O

OINJASGARAXA 12,000 12,000 0

3,600
8,400

= M

307 21201 A 12,000 12,000 0

3,600
Al 8,400

H

10 A SXAEHE2SEHIEX 12,000 12,000 0
O oiNEdsa28 N
12,000,000& * 10H & 12,000

3,600
Al 8,400

H

Ct23ots K& 589,476 453,746 135,730
Il 186,083
152,692
Al 250,701

H
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X ZH -
L= B

el

Akl = X1 ot
HegsEx s
C=sts K&

= _ — d =
SA - BB B () - MM - BES Ol &t o e
Ct2stots X3 10,266 10,266
201 £B-2d| 1,260 1,260
01 At 22l 1,260 1,260
O O2t=sRNEgs 4T =
0,000& = 99H 3| 1,260
202 o4l 6,400 6,400
01 = LH Yl 6,400 6,400
O OstgeFad 80,000& * 4% » 20 6,400
301 L2 A= 2,606 2,606
09 HALAHIE& S 2,606 2,606
O G2sotEs s 4% A2
50,000& = 159H 750
O C23tE Tl dA 4L A2
50,000& = 159H 750
0 OR8E 29 =3 H4T 4N
7,000& * 709¥ 23| 980
O G23tEXNEEs AT 2403
7,0008 * 9 « 23| 126
ChE3E Xt gg X 29,456 29,456
J| 20,619
= 2,651
Al 6,186
307 glz2tol & 29,456 29,456
J| 20,619
< 2,651
Al 6,186
05 RIZHRI & 3 29,456 29,456
O OE3s HEHAHEY X
29,456,000& 14 29,456
J| 20,619
= 2,651
Al 6,186
Ch23ot= Atddl2tel X3 28,500 28,500
J| 19,950
< 2,565
Al 5,985
307 glz2tol & 28,500 28,500
J| 19,950
< 2,565
Al 5,985
05 RIZHRIE 3 28,500 28,500
O G2t = Atel 22l X &
28,500,000& * 14 28,500
J| 19,950
= 2,565
Al 5,985
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2N
X ZH -
L= B

el

Akl = X1 ot
HegsEx s
C=sts K&

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
ZE0IBA SHAMEA X& 36,612 34,512 2,100
| 25,631
< 3,293
Al 7,688
307 gl2tol & 36,612 34,512 2,100
J| 25,631
< 3,293
Al 7,688
05 RIZHRIEF 3 36,612 34,512 2,100
0 ZS0I2HSHAMHAXR
36,612,000& * 14 36,612
| 25,631
S 3,293
Al 7,688
GUHSSRANEHLEESEZ WS MNEIAXE 149,100 138,450 10,650
| 104,370
< 13,412
Al 31,318
307 gl2tol & 149,100 138,450 10,650
J| 104,370
< 13,412
Al 31,318
05 BIZHRIE 3 149,100 138,450 10,650
O MELSINHUSSE2USMHE AT
149,100,000& * 14 149,100
| 104,370
S 13,412
Al 31,318
Ch2shts SRY 23 30,000 30,000 0
< 6,000
Al 24,000
307 glz2tol & 30,000 30,000 0
< 6,000
Al 24,000
05 BIZHRI & 3 30,000 30,000 0
O Gestinss2422  30,000,0003 * 14 30,000
< 6,000
Al 24,000
Ct2sthts JEY:E N3 20,000 20,000 0
307 glz2+ol & 20,000 20,000 0
11 AISI S XA E = 20,000 20,000 0
O U2sots JFLE & 22528 N
20,000,000& =« 14l 20,000
CtE3otF A JHE ALY X2 18,000 18,000 0
307 glz2tol & 18,000 18,000 0
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AN ALEI =X
3 dd=x 58

el OE3ots K& (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
11T M SRASE EX 18,000 18,000 0
O G2t oA JHE A
18,000,000& * 14 18,000
G2SHE=EXNAIE AN 26,880 8,400 18,480
< 5,376
Al 21,504
307 glz2tol & 26,880 8,400 18,480
< 5,376
Al 21,504
05 RIZHRIE 3 26,880 8,400 18,480
O GestHs=XANEsANSE
140,000& * 16¥ » 123 26,880
< 5,376
Al 21,504
G2 EL2ANAESA A 13,000 13,000 0
< 3,900
Al 9,100
307 gl2tol & 13,000 13,000 0
< 3,900
Al 9,100
05 BIZHRIE 3 13,000 13,000 0
O OS}NEL2NEMN SHEHXR
100,000& » 13 » 108 13,000
< 3,900
Al 9,100
O2sitE SStE2 0829 XA 30,000 30,000 0
< 6,000
Al 24,000
307 21201 A 30,000 30,000 0
= 6,000
Al 24,000
05 BIZHRI & 3 30,000 30,000 0
O OE3is E3 2208 2N
30,000,000& * 1A 30,000
< 6,000
Al 24,000
C23ts 2stes N 5,000 5,000 0
= 1,000
Al 4,000
307 21201 A 5,000 5,000 0
< 1,000
Al 4,000
05 BIZHRI & 3 5,000 5,000 0
O USs=s2st2sXE 5,000,0008 « 14 5,000
< 1,000
Al 4,000
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AN ALEI =X
3 dd=x 58

el OE3ots K& (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
2202 HEn=EXA 4,000 4,000 0
< 1,200
Al 2,800
301 gt d= 4,000 4,000 0
< 1,200
Al 2,800
01 Ml2ZHE 6= 4,000 4,000 0
0 Z2e02HdnsX& 1,000,000 * 49 4,000
< 1,200
Al 2,800
Ct2stots d=2=<0XA 16,000 16,000 0
307 glz2tol & 16,000 16,000 0
11T MISXASEX 16,000 16,000 0
O USsis 420K
16,000,000& * 14 16,000
CEsE SANE2E2 15,000 12,000 3,000
307 glz2tol & 15,000 12,000 3,000
05 RIZHRI &3 15,000 12,000 3,000
O O2stE SIHE2E XS
200,000& =« 753] 15,000
Ch2ssd LA NEHSS XA 9,500 9,000 500
307 gl2tol & 9,500 9,000 500
05 BIZERI & 3 9,500 9,000 500
O 2208 - UEHEsXNJHH 22
9,500,000& = 14 9,500
2200 2HHEIFS X2 4,000 4,000 0
307 21201 A 4,000 4,000 0
05 BIZHRIE 3 4,000 4,000 0
0 Z801Z014 205 s X
400,000& = 10¥ 4,000
CtZ30lol = 22,000 21,000 1,000
< 5,300
Al 16,700
307 21201 A 22,000 21,000 1,000
< 5,300
Al 16,700
05 RIZt2IEt = 22,000 21,000 1,000
OO0l w=s 22,000,000& =« 14 22,000
= 5,300
Al 16,700
Ct2s0ts =8 &titE 100,000 0 100,000
< 100,000
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X H
(=R B
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Akl = X1 ot
Hd=X &
C=sts K&

SN P SA(EN) - MBAY - BES

Off &t 24

2

i
2

307 21201 &

H
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100,000

=g gotg

100,000,000& * 14

2l

100,000

100,000
100,000

100,000

hn X

Al

22,162
16,513

1,995
4,654

22,

162

307 21201 &

Jl

=M

22,162
16,513
1,995
4,654

22,

162

22,162,000& = 14

Jl

Al

22,162
22,162

15,513
1,995
4,654

22,

162

H

H

Al

926,126

414,940
189,023

90,649
231,514

727,

389

198,737

HEIIsZA2

20,000

20,

000

20,000

20,

000

20,000,000 = 14l

20,000
20,000

20,

000

Ol0IS & XA

= N H

589,500
412,650

53,055
123,795

450,

253

139,247

307 glztol &

= M W

589,500
412,650

53,055
123,795

450,

253

139,247

589,500,000& = 14

= M W

589,500
589,500

412,650
53,065
123,795

450,

253

139,247

OH
O
Mo
o
o
o
o
H0
02

hn X

Al

40,000
28,000
3,600
8,400

40,

000

307 21201 &

40,000

40,

000
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0l &t o

=
i

2

ol I

28,000
3,600
8,400

40,000,000& = 14l

Jl

H

Al

40,000

40,000
28,000
3,600
8,400

40,000

J|

= H

272,046
161,023
33,307
77,716

215,636

56,410

307 glztol &

J|

Al

272,046
161,023
33,307
77,716

215,636

56,410

O AZNEUS}NESNIHNEHSEMEI AR
272,046,000& = 14

= N X

272,046

272,046
161,023
33,307
77,716

215,636

56,410

ROl R20=

=z N H

4,580
2,290

687
1,603

4,580

307 glztol &

=z N H

4,580
2,290

687
1,603

4,580

4,580,000& =+ 14

= N W

4,580

4,580
2,290

687
1,603

4,580

ro

SR A&

=z Y

378,023
164,520

47,257
166,246

398,679

N 20,656

Jl

= i

377,423
164,040

47,221
166,162

396,879

A 19,456

3,780

3,780

1,000

1,000

1,000
1,000

1,000
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A AMIEX
M 2901y X
Sl HASSHRRIEX CERED
5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
O s22IF XNgsn #4848 1tgF Axt
500,000 * 23| 1,000
202 04| 1,980 1,980 0
01 2L I 1,980 1,980 0
[0 StE2IIEH2=E8 20,0008 ~ 3H x 33 1,980
301 et A= 800 800 0
09 HAIAHI BEAZ 800 800 0
O S22 MNEgsn 24X A2 4
50,0008 * 16H 800
SHERIIE 8sdH=H| 104,400 116,000 A 11,600
& 15,660
Al 88,740
301 LBt A= 104,400 116,000 A 11,600
&< 15,660
Al 88,740
01 Al B & A 46 2 104,400 116,000 A 11,600
[ se2I=Ea8s3AH =4l 104,400,000 = 14! 104,400
= 15,660
Al 88,740
SIERIISANE XSS 14,000 14,000 0
=} 4,200
Al 9,800
301 et A= 14,000 14,000 0
&< 4,200
Al 9,800
01 M EXE 252 14,000 14,000 0
[ et X2 2,000,0008 ~ 7AHCH 14,000
& 4,200
Al 9,800
SHEEIJIE OS2 =H| 194,400 195,600 A 1,200
J| 155,520
= 11,664
Al 27,216
301 LBt A= 194,400 195,600 A 1,200
J| 155,520
= 11,664
Al 27,216
01 Al E & A 462 194,400 195,600 A 1,200
0 #2205 0tS Y|
194,400,000 * 14! 194,400
J| 155,520
& 11,664
Al 27,216
SHE2IJIE FII Ols 2 =H| 1,800 1,200 600
J| 1,440
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SN ALSI S X
M 2901y X
S HASSHERIISK S EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 108
Al 252
301 et 8= 1,800 1,200 600
J| 1,440
< 108
Al 252
01 MEIBEZE 06z 1,800 1,200 600
0O 82 2IE FIt Ots =
1,800,000 * 14! 1,800
J| 1,440
< 108
Al 252
SIRRIIE OrSUEH(ZERMEEEH) X 8,850 8,000 850
J| 7,080
= 531
Al 1,239
301 et d s 8,850 8,000 850
Jl| 7,080
= 531
Al 1,239
01 MEIBEZE 05z 8,850 8,000 850
[0 822I=E OtsuSH(T2MSEEH)
8,850,000& =« 14l 8,850
J| 7,080
< 531
Al 1,239
SHREIIEXJA 50,193 58,299 A 8,106
= 15,058
Al 35,135
301 et d = 50,193 58,299 A 8,106
< 15,058
Al 35,135
01 MEIEBEZE+05l= 50,193 58,299 A 8,106
O 822t Hstyst=a 2,000,0008 * 8% 16,000
< 4,800
Al 11,200
O SR2E gt= stsHE
11,350,000& 14 11,350
< 3,405
Al 7,945
O SR2=F TtH ws
22,843,000& * 14l 22,843
< 6,853
Al 15,990
HAGUSIRER2IOIEX& 600 1,800 A 1,200
J| 480
< 36
Al 84




A AMIEX
A SHE2IIH XS
R 3AUSIERIISXE (2 &HH)
4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
HAESREINEHOISYSFH XA 600 1,800 1,200
J| 480
& 36
Al 84
301 LBt A= 600 1,800 AN 1,200
Dl 480
= 36
Al 84
01 AR E & A 462 600 1,800 A 1,200
[0 #2Aa4s A Ols & =H|
600,000 * 14! 600
J| 480
& 36
Al 84
HAEUBESYERS 691,680 679, 164 12,516
= 13,860
Dl 218,349
== 40,852
Al 418,619
HOIMPAEHESHAHETA 101,942 120,464 N 18,522
Jl 12,080
Al 89,862
SHITZ )HSIAULE S XA 48,562 70,744 N22,182
101 @1 21| 3,626 3,388 238
A DIt 22 XNsE %= 3,626 3,388 238
0 #AU280d T2 29 a9y
51,800& * 70 3,626
201 et 26,392 26,392 0
01 AR 22l ] 12,620 12,620 0
[0 Lbt==H| 8,420
O #3AU239E EEZS(2IE2F) M
200 = 7,0000H 1,400
O H#AEIS9E 285 A2 E ¢
120,000 * 10 1,200
O BAUSSAT FATH ¥)| 752
15,000& » 5=  12& 900
O 3AadW2sod T2 29 M #¢
200,000& = 10€& 2,000
O HEAUE23I9 & T A, DVD ¢
20,000 * 10& * 53| 1,000
O HAUSST LUBHAALBE B
-] 160,000 * 12& 1,920
0 g4 4,200
O FAUERSIOE T2 )dH LAI=S
35,000& = 12Al2t * 10H 4,200
02 232%H4| 13,772 13,772 0
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el

- _ _ RE]
M- B8 a2 (3) - HEAY - BAS %Ei HD=2
[0 2222 2 HMA 8,772
O d3ALEE3IOE &IJIE 400,000 * 12&€ 4,800
O AU 2319 8 &Mzt 150,000 = 128 1,800
O H3AEEIFOE HUZHE AIEES
121,000 * 12& 1,452
O 3AEESSIOE Mot =
10,0008 ~ 12& 120
O HAUEESI9 N &FIINE 22
50,000& * 23l 100
O 3LERSOE EE RES
1,000 = 5004 500
[0 A=t 2,820
O HEAUESIOE WHE 2 ¢l
1,270& = 2,220¢ 2,820
O A& &Hl S XYl 2,180
O dAER5I9E X 22l
2,000,000& = 1Al 2,000
O H3AUEES9E H3X RA22d]
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